	Instructions
	

	Chapter 9 – Network Servces – Assignment
Design the topology below using Packet Tracer.
PC1-----Switch1------RouterA-----Switch2------PC2
------------------------------------------------------------------------------------------------------------------------------------
Topology Details:
RouterA is a Cisco model 1941
RouterA 0/0Gb port and PC1 are connected to Switch1 via UTP cable on network 1
RouterA 0/1Gb port and PC2 are connected to Switch2 via UTP cable on network 2
***Reminder that every pc, switch and router should have your last name in the naming of the device
Subnet and IP Information:
· network 1 = Private Class A addressing using /24 subnet mask
· network 2 = Private Class B addressing using /24 subnet mask
· Router A 0/0Gb port should have a static IP address
· PC1 should obtain an IP address from Router A
· Router A 0/1Gb port and PC2 should have static IP addresses
· Install DHCP with 50 valid address for network 1
· Set the Default Gateway option to Router A 0/0Gb address
· Set the DNS option to a valid address within the network that is not in use
------------------------------------------------------------------------------------------------------------------------------------
Requirements: Supply Screen captures within a Word document that proves completion of each numbered item below. Also provide a description of what should be found in each picture.
1. Configure IP addresses correctly for all 4 interfaces
2. Install DHCP on Router A using the criteria above
3. Verify that DHCP is correct and running by using the “ipconfig /all” command from PC1
4. From PC2 ping PC1 (this verifies that router and both pc’s are configured correctly)
  
Lab Grades will be calculated based on the percentage below.
20% - Meet Deadline by submitting a Word document
20% each – Numbered requirements above
 
 DUE DATE : 10/20/19


[bookmark: _GoBack]
